SCH 3UI Assignment 11: Balancing Chemical Equations

A: Balance the following skeleton equations.

1. H, + C - CHy

2. H, + 0, - HO

3. NO, - N + O

4. H,0, - H, + O

5. Ca + 0O, - CaO

6. Mg + HClI - MgCl, + H,

7. Li + O, - Li,O

8. SnCl, + NaS - NaCl + SnS

9. Fe,0; + C - Fe + CO

10. NaHCO; - Na,CO; + CO, + H)O
11. KClO; - KCl + O,

12. PbO - Pb + O,

13. Cl, + NaBr - NaCl + Bn

14. CHy, + O, - CO, + H)O

15. NH, + H,O0, - N, + H)O

16. H,SO, + Al - AlL(SOy; + H,

17. K;SO, + NH4,NO; -  KNO; + (NH4),SO,4
18. AI(OH); + H,SO, - AL(SOs; + H0
19. Ca(HSO,), + NaCl - NaHSO, + CaCl,
20. Cu(NOs), - Cu0O + NO, + O,
21. Al(SO4); + Ba(OH), - Al(OH); + BaSO,
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: Write the balanced chemical equation for the following word equations.

—_—

sodium + water — sodium hydroxide + hydrogen gas

2. zinc sulphide + oxygen — zinc oxide + sulphur dioxide

3. acetylene (C,H,) + oxygen — carbon dioxide + water

4. lead (II) nitrate — lead (I) oxide + oxygen gas + nitrogen dioxide

5. chlorine + water — hydrogen chloride + oxygen

6. sodium peroxide + water — sodium hydroxide + oxygen

7. nitricacid — water + nitrogen dioxide + oxygen gas

8. manganese dioxide + hydrochloric acid — manganese (II) chloride + water + chlorine

9. carbon + nitricacid — nitrogen dioxide + water + carbon dioxide

10. hydrogen iodide + sulphuric acid — hydrogen sulphide + iodine + water

11. magnesium + hydrochloric acid — magnesium chloride + hydrogen gas

12. tin + sulphuric acid — tin (IV) sulphate + sulphur dioxide + water

13. hydrogen gas + oxygen gas — water

14. lithium + acetic acid — lithium acetate + hydrogen gas

15. calcium carbonate — calcium oxide + carbon dioxide

16. potassium sulphate + barium nitrate — barium sulphate + potassium nitrate

17. iron + oxygen gas — ferric oxide

18. calcium oxide + water — calcium hydroxide

19. silver nitrate + sodium chloride — sodium nitrate + silver chloride

20. propane (C3Hg) + oxygen gas — carbon dioxide + water
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